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Solving Exponential Equations using the One-
to-One Property (No Calc)

Hint: Rewrite non-exponential side using the
same base
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Solving Logarithmic &
Exponential Equations
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Section 8.6
Solving Logarithmic
& Exponential
Equations

Example 1: Example 2:
Solve logsx = log312 Solve log(2x - 1) = logx

Example 3:  Solve logs(x® - 6) = log410




Ex1l |nx=-3

Ex.2

logx = -1

Ex.3 2logs(3x) =4

Ex.4

Inx -In3=0




Ex.5 logz(2x + 1) + logz(2) = logs(5x)

EX.6  |oge(3x + 14) - loge(5) = loge(2x)




Ex.7

log(bx) + log(x - 1) = 2

Ex.8

|094X - |094(X = 1) = %




Ex.9

logx + log(x +4) =1













